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Time : 2 Hours

Cool off time : 15 Minutes

Gen,eratr {rust;ruct;ions to Candid,ates :

s There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 h.i's.

CI You are neither allorved to write your answers nor to discuss anything
r,vith others during the 'cool cff time'.

s lisr: the 'cool off time' to get familiar with questions and to plan. your
answers.

Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Calcuiaticins. figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

Give equations rvherever necessary.

Electronic Cevices except nonprogrammable caiculators are not allowed

in the Examination Hall.
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1. a) The journal published by ISI
is.......

i) National Accounts
Statistics

ii) SANKHYA

iii) Statistics Today

iv) Annual Reports (l)

b) Write a short note on NSSO . (2)

2. Classification based on time
is ......
a) qualitative classification

b) quantitative classification

c) chronological classification
d) geographical classification (1)

3. The following data gives the ages
in years and weights in kg of 20
persons.
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1. a) ISI tormfuuflaolaei3cm clocnJacell

a to:miaJl&o6'rrro

i) National Accounts
Statistics

ii) SANI{HYA

iii) Statistics Today

iv) Annual Reports (1)

Prepare a bivariate frequency
table.

b) NSSO -eico.rao3cj1eJ" aoJ el"elJ

oJloroerno o€)ejcoJ6. (Z)

2. fiuo QDo roo slcrun cm ocaol colJgg

orOcSaro6rDoc6'nr'

a) qualitative classification

b) quantitative classification

c) chronological classification
d) geographical classification (f)

3. eJJoJos rocrnlolaei3crn cuc6 20
GoJoSos ola)cRso (cu6ovomlo?)
recoorJo (a1.ictrcolcfl ) mr3o-Ilgflao3crn
(Dc6'rD":

6joJ oo6rucruo1cco.t6 oOrulomrl crJS16

t0)gcoc€oA6. (4)

4. oo3 miloootdlai ru;lmltdlerugovcnlafl .......

a) Mean < Median < Mode

b) Mean < Mode < Median

c) Mean = Median = Mode

d) Mean = Median > Mode (1)

(4)

4. . For a symmetric distribution :

a) Mean < Median < Mode

b) Mean < Mode < Median

c) Mean = Median = Mode

d) Mean = Median > Mode (1)

Age 15 16 17 18 16 l9 17 25 21 24 T7 15

Weight : 40 49 47 46 62 55 59 46 68 69 59 43

Age 16 22 18 26 20 28 25 17

Weight : 7I 51 62 42 4L 60 45 48

K-923



Distribution 1 Distribution 2

Mean 52.80 23.20

Median 59.35 30.10

SD 25.r0 4.50

o. Some details
distributions are

of two

given below.

Which is more skewed?

100 people were asked to record

the number of television

programmes they watched in a
week. The results were as

follows.
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o6re" oJkaroomoBg3os o-[l el oJlruoeued

erJol os c-ol6o'rololaoecrni.

ogroilmcern" ru"egocnq4i e'3s3roa&agof? (4)

100 rorodaerccocs" roocr-t6 ao3

ror9g'olcold ec6mJcm osellculogc6

o: olo:cslagos nd)6'mo Goolo(ilseonDJ

o.rcc0 crolcuc.oJogsicmJ. alglcol pomroo

cocoe ol$aoJlcfl ollolo14f o1aer3cm3.

o.

6.

(4)

6.

Draw a histogram. (4)

The pie chart shows the voting

in an election in which there are

four candidates.

oo3 c,-o1cglcl@co cuoaJ"doSe.

dJruos ec6rnJcro ooclJ ojc6$ cncei

cnrocmc6orola16 oJossJolo 6loJ

ocDoo6loros3gloa acuca mletocol

ar3-o-llgf aeiicrnJ.

(4)

7. 7.

Calculate :

a) the total votes

b) votes polled
Miss. S.

K-923

polled.

in favour of

(Dcog doeo)Jcmoj ec6mJe.

a) GYooe ootcoiro ocucsSegJos
n$;6mo

b) a3ocol. S m" a,dl4 coiSseg;os
n66mo Q)

Turn Over3

ojlooemo 1 I o-nooemo2

59.35 | 3o.io

sD I 25.10

No. of programmes 0-10 10-20 20-30 30-40 40-50 50-60

No. of viewers 9 16 36 21 15 3

Mr. .R

8500 votes

1020

iVIr. P
2500 votes

(2)



8. a) "Each member of the
population has equal
probability of being selected

to the sample".

This sampling is called........-.

i) systematic samPling

ii) simple random samPling

iii) stratified samPling

iv) judgernent samPling

b) Name three nonProbabilitY
sarnpling methods.

(1)

(3)

9. a) Median can be graPhicaiiY
located using.

i) Histogram

ii) Line graPh

iii) Box Plot

iv) Ogives (1)

b) The average weight of 25 boYs

was 55 kgs.Later it was
found that the weight of one

boy was misread as 60 kgs

instead of 50 kgs. Calculate
the correct average. Q)

10. The length of life (to the nearest

hour) of each of 50 electric bulb

is noted and the results shown

, in the following table.

I Length of iife (in hrs) 650-670

No. of bulbs

Calculate the median.

K-923
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" Gol cHJc el og ml al el 6lccoc

G.TO o cr: corol cfrSo crucrul 91 G el €6f'

oco o oerunDs3ao og sScrn nJl crf (D&rd

crucoc\rDeocern3gg-roi'. gtzsi o{]rir

cooo mCcr!"$orrrj' rOOend?

i) systematic samPling

ii) simple random samPling

iii) stratified sampling

iv) judgement samPling (1)

ccncerfr ciolceruenJl eIl61 crucmJlc0

go m cnmrl m3gg CI3crn" o'l rol a cCI

.r€)eJ(oJdb (3)

9. a) tcDcon" po-rcco;ccnl4;i o"lcu.flcolc0

c'il Aepconao3crnoflcrf 9o-l ccoccdl ao3

cmaf

i) oolcg;clcnco

ii) ooac0 tcnco.ci,

iii) ceocahr-r" csdcg

iv) aslorjec0 (1)

b) 25 crold"rtapiiagos cnocsorol Gcoo

55 kgs ooeni. oo3 eoerr0aSfco.'3os

Gcoo 50 kgs ogcmrui 60 kgs

oocm" erco61 q3 rucco1-9;orlrcol

"-Icrnld aoerre6'rD1. cnolo)oal

uoocclool Gcoo ec6,n3e. Q)

10.50 gaailslai orurfieru3agJd

acaoccrnlercflco.r3o oOco)JqB (nOBolSo

orosJcdnD oern1ao3olafi ) GcoCIlogsioloJ

crnJ. gomroorarfr cocoe c'rSNacolcco/l

oacs3rumlolaei3crn3.

680-690 690-700 70C-720

b)

670-680

20 L7

(5)(5) olrujlcorc0 6corn3e.



11. a) The geometric mean of two
ob s ervations 'a' and ' b'
is.........

a+bii) 
2
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1.1. a) 'a', 'b' o6cntl o,rlaagers cgJcoo-

tsloi olat

a+b
i) ab ii) 

--
3aiii) 
b

irr) J"b (1)

L2. a)

aro3 cr-Iloccno 6)oJ m)oelrrrJoolttlocQ

4 cucneongilet3o e3sl coloc[&oo

100 km/hr, 200 km/hr, 300

km/hr, 400 km/hr eolo<ulcoilafl

ejsl m)6relo1es'r3crn3. cruoel(oJo

onDlcri erJ63otegg ofl ocmomlocp

o-roaoelocfl cooccool GoJOcd)

ec6mJe. (3)

cuicnl"co-t6.,vocr} ro@co:ar4la

re',ogoJlcn sloJ gBcor)o6'tDo

i) olc0 mfloflcco,rogc6

ii) caccoonl"sj€ eco,rj' coiolccor.,gaA

iii) coeror"

iv) porocogco (1)

b) 6lro3 mcnoramloet caenJlcCI

oseIlc.flosod ccruolco ccecdogos

6loJ mrOcq cDso'nD3crn3. roraru0

ruccn"oOmo oeJqJOrD dCmeUA

gJos n€)Wo rDcoe oecsJdoJcrnS.

i) ab

3aiii) 
b

(l )

An aeroplane flies along the
4 sides of a square at speeds
of 100 km/hr, 200 kmihr,
300 km/hr and 400 km/hr
respectively.
Determine the average speed
of the aeroplane in its flight
around the square. (3)

An example of a relative
measure of dispersion is ........

i) mean deviation

ii) coefficient of variation

iii) range

iv) all of these (1)

A consumer bureau has
conducted a survey of cable

television providers in a city.
Here are the number of
channels thev offer :

iv) b)

b)

L2. a)

b)

L32, !28, 131, 115, L25, lr4, rlz, T29, r20, L28

Calculate the standard
deviation of the number of
channels.

13. . The quartile deviation of a set of

ob servation is 5. The lower
quartile is 10, then the uPPer

quartile is ..........

a) 10

c) 2A

K-923

el c m el Je gJo s oet es roml ei cg

g;cc0ccul6cu,:" cul'loflecologotr

ec6rn3a. (3)

13. aoJ a3go ollaa'g3os co.1cOoo3afl

ruJlollacorosat 5 crol6,nY. poloQ cetcol6

calcOoogafl 10 orocorcafl ctogCI

ea.lc6oogenocfl ollet .........

b) 15

d) 25

(3)

(1)

a) 10

c) 20

b) 15

d) 25 (1)

Turn Over



Answer either question 14 or 15.

L4. The price and demand of a

commodity for 6 months are
given below.

Calculate the covariance
between price and demand.

OR

15. A stock market analYst has
analyzed the Price trends of two
stocks X and Y over a Period of
30 working daYs. He comPuted
the following results.

Compare the consistencY of the

prices of the two stocks.

16. a) Which one of the following
is NOT a metho d of
collecting PrimarY data?

i) Direct observation

ii) TelePhone interview

iii) Focus group discussion

iv) Office records

b) You are the marketing
' manager of a soft drink

company. You Plan to
introduce a soft drink with
fewer calories in it for the
diet conscious consumers.
Develop a questionnaire for
obtaining the necessarY data
for this Project.

(5)

(5)

(1)

Average

I{-923

(4)
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14, L5- Ge.JcGJsdB$nfl acrnlcrd ociroo porDoo

o€)ejco]e.

L4. noJ m:como'mloo! 6 occruoro'CI

ru1 elco.r3o G'loolc.ftJarocuJo -alSolos

oecsSao]crnJ.

oJl aco.r3o fforucnJaturcoJo rooola3gg

caccotolcorc0mi ec6rnJe. (5)

rmoge,llcil

15. no3 Gmic6o" oc6aer6 oJlcnaelm

oJlraodrucCI X, Y ogcnrl Gslcao3egos
30 rElolm.lor3gloel o.t1elac6

ojlcnaelmo o-olcD"ro3. CIcog G.looJcrn

ojlruoopc0 cno.rcri &6rDdo"

a3gf oco,rsi(oroJ.

cg;ca.ei sooccrool SD

X 85.49 23.88

Y 112.00 26.22

o6TE" cmJcdoJesoscDSo oJ'laagos
cruoloto rocoroo)o oeJg,Ja.

16. a) cocoe clo@JcrnclcoJld oo[.lool
elc6c Gc/oolo6rncu'ro1 ocfl oc6g;o

roogcrumaif nCIrut?

i) Direct observation

ii) Telephone interview

iii) Focus group discussion

iv) Office records (1)

b) rocsc6 eio3 el"€l3 olcm'lcol

cnl 6ooce'rn amrcnlcoJloer oc0aei61o

ui ocamgd GYo6'm". Groooco

laoroofl cfl G6'0lcu.tcucc6ococco.r

go.r c re c aio c aer d aer" a ol enel

6Jo6ruxD 6celcolcor3gg ao3

a "e.:30t cm'l co.r o rarocu rool gf aoScm

rolcrf <ocscb gegcnlaelJcmJ. Pt
e[o:cgaislcn' colonel ruc8c
GcnoJo6rDeomlcnccol

eeJcGJcoJeJl rogcocdoJe.

(5)

63oJ

(4)

6

Price (in Rs.) 20 22 23 25 26 27

Demand (in kg) 5 4 3.5 2 1.5 0.5



17 . Two cards are drawn from a

packet of 52 cards. Find the
probability tiiat

a) the cards are spades.

b) one is a spade and one is a
diamond. (2)

18. In tossing 3 coins at a time, the

probability of getting exactly one

head is ..........

a) 1/8

c) 3/8

b) 7t8

d) u2 (1)

Answer either question L9 or 20.

19. A travel club has 1000 members.

6A% of them are males. 45Yo of
them pay by credit card when

they travel including L7 5

females. If a member is selected

at rand.om, what is the
probability that

a) the member is a female

b) the member is a female and

pays cash

c) the member is a male using

credit card (3)

OR

K-923

rAnogarlnfl
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18.
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52 ac6o,u3agJos aoJ o-rceei61cfl

cnlcm3o o5TE" ac0cr.u3ac6 o6s3ao3cm3.

(DCog oloQ4cmcua)Sos mDorecuJrD6ri

6C6rn3e.

a) oclte" ac6cu-l3ag3o ml"co:crl"

croeJcrnJ

b) noro6po ml"corni,:3o 6lsrroQffio

crlcoo6r'cJo c@eJcrnJ. Q)

3 caccollcn3ac0 6]oJ torcruuoJo csccp

oo-rg3crucc0 nroJ oler oc[(Do

cu o3crncali cn3gg oDoGccuJro.

a) rl8 b) 7l8

c) 3/8 d) Ltz (1)

19, 20 GeJccJ6TB$cfl acrrilmJ oc[roro pomoo

oOeJnDJa.

19. aoJ colc[ro eeqflrtfr 1000 r0oocDffr3g6lei.

rs'oruolftfl 60% cor6 dJoJoscococ6m".

L75 ml'toflacfi gcdogos 45% eo:6

corcloagilafl o1aru16 ac6crl"
goJccolccnl€oecrnoroc6rD". *6q
c'oocD5u'B$ nfl Glocog cotcr:;c,eJlaoca,

o(ooo6]'0'ros3onncafl CIcog cLJoa)3ffnol

CDJOS cruoGCCu)roacCI aoem3A

a) GrO Groo@o 6lr0J ml"loflcorca3cmoflm'.

b) GrO Gfoou)o corclroagJafl oJ6'rDo

gcrlccolccnldoJcrn 6]oe

m-1"1ofl cor c a3cm oil m:.

c) Gtg Grooo)o 1acu16 acOcr.r-l'

goraco.rccnlaoJcrn 6loJ

orJoJosmca3cmo'flm'. (3)



OR

20. A student is appearing two
examinations in Statistics and
Economics.

The probability that the student
wiLl pass the Statistics exam is
0.6 and the probability of pa.ssing
Bconomics exam is 0.7 . The
probabilitv that the student will
pass both the exams is 0.5.

Find the probahilitv that the
student

a) will pass at least one
examination.

b) will fail both exams.

Answer either question 2l or 22.

21. One bag has 4 white and 3 black
balls and a second bag contains

3 white and 5 black balls. One

ball is drawn from first bag and

placed without noticing the color

in the second bag and one ball is
drawn from the second bag.

What is the probability that the

ball now drawn from the second

is a black ball?

roooga,lnfi

2A. 6l(0J o:1ra;c0onl Statistics -mJo

Econo mics -m3occo;l CI6'rB

": 
o'lo,saplafl a:ouSj,FoJCrnJ. oocolcrn

Statistics .,-:ro"ja,s ecoJleo3o-lccnigg

crDoreo{co 0.6 9o Economics ..lc5lo'v

emllaer3cuccnlgg cfDoGOr){D C.7 po.

oern" oJ1 ov corongjo eco/lao3cl ccoig3

trDorBo{rD 0.5 9o GrO6mY.

rDCog o_JOa)aCmCUaQ)JOS crDoGCl-.J)o)

ec6mJe. oJlo;cfrcarol .."..

ao3 uo'lorrocotnla3o eo/laolcrn
rolcn'

r06fB" ol (6i.ssd coJl a3o oJ oC ga)o$s.lcm

320

. (3)

a)

b)
(0)tcn

2L, 22-co-rce;on$d amrrlcn" oclarro p(oroCIo

o€)eJ(Dje.

27. oo3 erucco167 4 oorgp_a)Jo 3 ao3q-13o

Gdru cgegdre". (o6reco ococo3 eru ccrjl,d

3 ocupjlcoJo 5 eoJoJJo ceaLcgac0

g6re:. ncrDeCIoco'ro eor crrll aflcnl crrr;o cn! oo

Gmcooco(D oo3 eeotori o6r€coooln

eotcorlceldo" ocA'ico.roflcn" GCooeo

oGTtecoertolot en:ccnlafl mlcmgo 6oJ

c6il cogs3ao3crn3. p6dBocn CI6lY3coo(6rd)

onrcoilafl cnlocnrs3romr cerucd eoig
cnl ooca3cm o1m3gg

ec6rn36.

ctuorBOJJrO

(4) (4)

OR

22. A student is asked to answer
questions from three parts A, B
and C. Part A contatns 25o/o, B
contains 45% and C contains
30% of the total questions. Out

of them 5, 4 and 2 percentages

of the questions are respectivelY

wrong. A question is selected at

randorn and is find wrong. What

is the chance that it is selected

from Part B? (4)

rcnoge,lnfl

22. eio3 a351ao" gru'rrrroo og'r3roccfr

mcflalco.r GelcGJ co-rgcjlot 3 "lc63ac0
A, B, C 

"Omn160B6)(neo/J5re". 
rdgodb

GeJcGJdoBgos 25% G.oloeisoBd o:c6$

A co/la3o 45% o-lcdg B coJler3o 30%

"rc6g C coller3ocem". roocolo? a)Locl&oo

s%o, 4Yo, 2% eoco;eoncO oolgcern".

corca;c.oflaoccol GoJ aJ51

ocooo6lT'TiDsJ(d'ICI GoJCGJo oro6Oo.tOafl

rorooi otcCI$ B arftfl gcdoggrocacmJ€Bg

cruorBt)$rD eC5mJ6. (4)
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